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PGCC - distances

Planck collaboration, Montier et al. (2015)
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Galactic structure

Gaia collaboration, Drimmel et al. (2022)
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Galactic structure

Gaia collaboration, Drimmel et al. (2022)



Wolf diagrams
Introduced by Wolf (1930)

Example by Gontcharov et al. (2023)

Stars with no extinction

Stars behind interstellar cloud



Gaia parallax
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Gaia parallax
Cumulative count 
distribution
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Star Cluster?
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Comparison with PGCC
Gaia parallax





What is A0 ?
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Fitzpatrick (1999)
E(B-V) = 0.5 & Teff = 3x104

User can choose R and Av to 
produce specific extinction curve :

R and Av can be seen as extinction parameters

Observed flux in the presence of extinction



What is A0 ?
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User can choose R and Av to 
produce specific extinction curve :

We choose R = 3.1 and 
observe that  
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at the specific 
wavelength 541.4 nm

Gaia collaboration, online documentation for DR3



What is the link between A0 and A𝛌?
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Extinction in specific passband (for ex. G)

Gaia collaboration, online documentation for DR3


